11 kjaacce

Crenens ¢ panuoHAaJbHBIM IIOKa3aTEJIEM A €€ CBOMCTBA.
CreneHns ¢ JEHMCTBUTEJIbHBIM IOKAa3aTeJeM

OcHOBHAas 4acCTh

Berunciute: a) 27 23; 6) 167 +4-(1/25) 2

Vipocrure BeIpaxkeHus: a) X 2 - x ¥4 ; 0)( x>0 )3,

B) X-1/3 : X3/4; I‘) (O,O4X7/8)'1/2

IIpoduabHas 4acThb

[—

Pennte ypasHenus: a) x'° = 4; 6) 2x/6 - 113=(

VipocTuTh BeIpaxkenust: (a + 3a"?): (a*+3)

Haiinure 3HaueHne BbIpaKeHUS
(y"2-2)" - (V"2 42)", npm y=18

11 kanace

CreneHb ¢ pallHOHAJILHBIM IIOKa3aTeJIeM U ee CBOMCTBA.
CreneHsb ¢ 1elCTBUTEIBHBIM MOKA3aTeJIeM

OcHOBHAs 4acCTh

YIpOCTUTH BBIPAKEHUS

58, 14 ., 1/8 .
a)y "y Ty

6) ¢ 14-¢c 03 ¢ 29,

Pemnts ypaBHeHUs
1) x'*=4;

2) y'=3/5;

3) a'?=2/3;

4)x " x!P=1;
5)y" =2

6) a’’a'?’ = 25;

7)a"?:a=1/3.

IIpoduabHast 4acTh

Pemmte ypaBHEHUSA
1) x'*=4;

2)y'=3;

3) (x+6)"?=3;
4)y'"® =2

5) (v-3)"=2;
6)a?:a=1/3




Bpruncnute
1) a¥’a!?7 = 25;
2) (x-12)"7 =2;
3) x0T xM =8;
4)a'?:a=1/3;
5)a'*=2/3.

YIIpocTUTE BBIpAKEHUE

(o +83) - (a5 - 3)

11 kjaacc

CreneHb ¢ pallHOHAJLHBIM IOKAa3aTeJIeM U ee CBOMCTBA.
CreneHn ¢ 1eHCTBUTEILHBIM MOKA3aTeJIEM

OcHOBHAas 4acTh

Breruuciure

St

b

) (45— 1) (4§+ 4+ 1)

YrpocTure BeIpakeHUE
2

(a% - b%) — (a% — b%)

2

IIpodunpHas gacThb

Pewmre ypaBHeHue

x_g—x(_%) —2=10

Peuvite HepaBeHCTBO
5 5

x 7-1<(x-1)7




